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Instructions: (1) Check the question paper for faimess of printing. If there is any lack of fairness,
inform the Hall Supervisorimmediately.
(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.
HYUY : BAUAPAIGHHI BIdE UGBematd NsTRIL &I
Note : This question paper contains four parts.
' ugh — 1/ PART -1
(Hiauenrsar : 12) / (Marks: 12)
douy: (1) Soardg alarmssmagnb admUwadbHsa)b. 12x1=12
(i)  Paab Murgssuviar daLulaas Csiblsbss Ssar BRI BLE afmiudmearuyh
TR, -
Note: (i) Answer all the questions.

(ii) Choose the most suitable answer and write the code with the corresponding answer.

. yedmmiy pGes g-uler Sleo ms > SGLD. EPEENTID SNG@EMED GTHNE FLOLNGLD?
&) cms! &) Nkg! ' &) Nm? kg™

™ ¢m s
The unit of g is ms™>. It can be also expressed as ..oeerenen )
a) cms’! b) N kg™ ) Nm? kg d) ent §*
2. &Geon sunL. oewofl ETEITLIEI THENIEMLILI SIEDE?
&) W1 HemL. 6Te00r &) Wlehr sLEEH Hmedr &) et SLDmEd ™) et Hmedr
Kilo watt hour is the unit of ................... . . _
a) resistivity b) conductivity c) electrical ecnergy  d) electrical power

3. yomIGmml Adsensuled LwETLED sdfiuss eGenGLniy
&) CoipCuwin &Bwmperr &) CupeCwn Gsnunedl &) CrpGuim snrusd

m) GupGuwin BEsed
...................... isotope is used for the treatment of cancer.

a) Radio lodine - b) Radio Cobalt ¢) Radio Carbon d) Radio Nickel
4, GISeB-B60 266N BITUEDT FHEUBLD .oovvreveererrneae .
&) 0.25 - 2% &) < 0.25% &) 2-4.5% M5 - 6%
In wrought iron with percentage of carbon is .................... .
a) 0.25 - 2% b) < 0.25% c)2-4.5% d) 5 - 6%
. 5. EpEEETILEUDMIET 61g) sieud HepIUUTET eeriuGang?
&) S GLner &h) ewetder &) b M) ShedsamNED
Which of the following is the universal solvent?
a) Acetone ‘ b) Benzene c) Water d) Alcohol
6. g afw Camwsder |UPAC quwr 3-6ghed Wiy ar-1-Sped g ams euenss Geob?
&) seeanG &) smunsdlels Sl &) drGLner ) SHEdSEDNED
The IUPAC name of an organic compound is 3-methyl butan-1-ol. What type compound it is?
a) Aldehyde b) Carboxylic acid - ¢) Ketone d) Alcohol

7. &gu sapndl mie mpenLaundng.

&) usmIHesofisD &) eowLBLnsnesorfwneder 2 Lu@s

8) unsGaned gemen m) emwrBLnanssorfwunelsr & LUDs seley
Kreb’s cycle takes place in ....occoeveeneenn. .
a) chloroplast b) mitochondrial matrix

¢) stomata d) inner mitochondrial membrane
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1.

@ppu as‘.mmu@l-w preugmiseied ShermGall eeisuens asaO\mHE L HEUNEDE?
&) 2-Huds s &) oL QFed

£) WaIhHHSHENET SN 656 M) L&EIHSSHEHTE

Male gametes in angiosperms are formed by the division of ...

a) Generative cell b) VLbelallVL ccll

¢) Microspore mother cell ' d) Microspore -

....................... dnbran wHnd o8l Lpdng.

&) b &)) uNBIsD &) GasLflwd ™) @GymowLD

.. accumulates in kidney and liver. -

a) Lead b) Mercury ¢) Cadmium d) Chromium
. Getelit sQmGEaT BIERIILED SLLb

&) pewsmen &) EpEETETEET &) OLe oI GEeT ) enFLLTeT

Node of Ranvier is found in ........cc.oooeveeeeee. : ;

a) muscles b) axons ¢) dendrites d) cyton

6uUedr £ _UNMMWIESIENT (LPHETTEDD BEBHE «e-vevveverererrerereans BLEIEET OBNLILNEIE ShGLD.

&) SlevoLsded £ _ulnmer mjm__psug;,r_r)@rﬂu_! &) Gansdigeonds

&) yefulwed ) 6UETOTL6D

The major concept in astrobiology is the ...................... Zone.

a) habitable b) goldilock c) geological d) sedimentary
. 2 8 Leosulensd Sy Sebd .

&) G 31 - &) g6 6 &) glged 22 ) SisGLiur 2

World ‘No Tobacco Day’ is observed on

a) May 31 b) June 6 . c) April 22 "d) October 2

ug# — 11/ PART - 11
(oBliiauarsdr : 14) / (Marks: 14)

HDU0Y: aauCugt gy darnbeabe FaLwaldsa)l. [oParr aanm 224@6é6 alLiwwns

L waldbsea|o]: 7x2=14

Note: Answer any seven questions. [Q.No. 22 is compulsory]

13.

15.

. uUNGEFIS:

sfwn? seupn? (seun) erefled saprlenar SEHES.)

&) Bwss Beneoufed 2_elern QUNEBET HDE Swis B MDHDSWS TSTHELD uetoly Swsssded
BeneoLoLd eTeoTULGBLD.

&) gesr Senllle gHuBh CHIGETLE 2-HoD eiGugILD LEleSlILNGLD.

State whether the following statements are true or false. Correct the statement if it is false.

a) The resistance of a body to change its state of motion.is called interia of motion.

b) The linear momentum of a system of particles is always conserved.

eswnemass Gonet

1. W enpy Slemeser - a.

2. Ggunm - b. snmflér Geusld

3. QGsneotnm - C. ShEMu efnend
d.

4. GuuGwn SleeseT - BLED 6UMLD EHEMmIGEET

Match the following:

1. Electromagnetic waves - @ Satellite .
2. RADAR - - b. Speed of the car
3. SONAR - c¢. Aircrafts

4. Radio waves - d. Marine animals

efieionfe ELHMED ETETIED ETETET?
What is stellar energy?

. Saphmy LOHMID &NJETOILD:

eapmy (A) . owsafAwsens Smblsn g yaause. &l Ulips 5060l mHE) un@;mn&muu@eﬁp@
sngeoid (R) : ewsafdud, EmbemueiL elemeoryflb HETEmLD LAGBE.

&) BaDMID HNIETIPLD FHLINEIIE). HNIETOID snpEmm HETG EAMEGEDEI.

&) sabm) &ifl. BNYETOILD HEUM.

8) sapmy seuml. snpevond &l

@) Sabmb SNJEOTIPLD &ill. SHEDIMED HNIEWILD FaDEwD CHENEEEHEDMR.
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Assertion and Reason:
Assertion (A) 1 Magnesium is used to protect steel from rusting.
Reason (R) : Magnesium is more reactive than iron.
a) (A) and (R) are correct. (R) explains the (A).
b) (A) is correct. (R) is wrong.
c). (A) is wrong. (R).is correct.
d) (A) and (R) are correct, (R) doesn’t explains (A).

17, Se1 wpnubd e efenarsamen GeumiuBGHdis.
Differentiate reversible and irreversible reaction.

18. Rh anpexfews st glibseui wim? Sig ger Slsleunn) SenpésiuGEng?
Who discovered Rh factor? Why was it named so0?

19, SWAAs Sllwsdar gCsaub Brei® eunpeiiied SHEmETEBEDENS HHS.
Bring out any two physiological activitics of abscisic acid.

20. yeos £ wiil ugaREaTaT BNRSmS aeueaTn SHPIBEI Q@nener Sweyd?
How can you determine the age of the fossils?

21. wWEOMEWED BHEIGET TTDIED STETeor?

What are psychotropic drugs?
euneTsHed LleTered gmuBL 9.8 afemnipgs eps@l ety SpGunens CBa:uErpg; snhHmled eeSlulsi

22.
 BensGeusLd 300 6.68 I sreofied GosdanL LIRSS eTeUeueey o _wgshBed o _emengl?
The thunder of cloud is heard 9.8 seconds later than the flash of lightening. If the spced of sound
in air is 330 ms™', what will be the height of the cloud? ;
i ' usd — 11/ PART - 111
gGouy: agaaCumh gu G\S’mn&,m@&.@ oL waldeai. [ofarm aan 32664 sLLIWLID
af@mLwaldano] 7x4=28
Note: Answer any seven questions. [Q.No. 32 is compulsory]
23. &) ogneoe Crmaduler CUENEHEMETH G M.

&) ey Syhmed WwrHDSHeT Aoy SlLDEMIBET WNemeu?
a)  Write the types of telescope.
b)  What are the characteristic features of heat energy transfer?

24. &) evsnpwm - @b e
&)  Lnen eflemenenleot sriluéaD aeleuemaLln Sme&Wn?

a)  State Ohm’s law.
" Write the various possibilities of Doppler effect.

b)

25. &) sFflwuseu QUNmETEEETS EWNEsD GuIg) 2 _eten HEUL (LPEOMEET WINEDeU?
&) SlplueLd Fla6Taaf 60 FIUWINGEMETS EnMIb.
a)  What are the preventive measures while handling a radioactive material?

b)  Namesome elementry particles.
Bmby HCIESEREBTET By BNICTTRIEDES HHE.

26. &)
&) nAp 2.0 Db GETDmIEET GETmNEd ETEITeuT? SNHeDT WHBW LWETTSEDET STLPEIS.
a)  State two conditions necessary for rusting of iron.
b) Define hygroscopic substance. Mention its use.

up evrflens erebTmed ETEOTENT? LI aullens GoriDmsaie dpeTmn USOTLGEDsTS SaDis.

27.
What is called homologous series? Give any three of its characteristics.
28, Baslsdames Heuy Benouien GNIEG 0aLEGHBEIDDSST ULLD e LNsmssDad Gl
Draw and label transverse section of dicot leaf.
29. &) o L&oly WwHOLD oeuafeseul - GaunuGHEs.
WINeneomLD?

&)  SLosifleysdr o dpeungGuw APERIGET Wiemeu? Sleunlemst ETELEUNT) 6D

d out breeding.

a) Differentiate between in breeding an
2 How are solid wastes managed?

b) What arc the sources of solid wastes

30. @@yunCnGansler Slemiolienull ULLD eUEIHE! LIS Tl & 66T &b @gj!eszssqw

Draw and label the structure of a chromosome y




&)

a)

b)

OIVITE

Note:

33. &)

b)

34. &)

a)

b)

35, &)

&)

b)

4 , S

RO LLO posHHe gnudGd Seowwnr ehenaesen wWemnsu?
cefw SLGurefar QUWILD APODHEAN] QUITLILNLEDLLLD 6 LPEHs.
What are the harmful effects of alcohol to health? .
Name the simplest ketone and give its structural formula.
100 8. ffled 20 &. NaOll-m sevpsimy g seopssd punicsiuGng. BT sepgeLnbefe ”
Feon soelssanmtd wnevom.
Salaafic o aen onehy Sevwenud Hneoms.
A solution was prepared is dissolving 20g of NaOH in 100g of water. Calculate the mass
percentage of solute. .
Iind the mass percentage composition of methane CH, .
 usH - 1V/PART -1V
(1) sadsgy afansspsee a@aLwaldsa|d,
(1) ganNang afarafHee gy LHUNUITEAT,
(111) Crmauwtat SLmsal® ULD uUMJs, . 3x7=21
(i)  Answerall the questions.
(i) Each question carries seven marks.
(iii) Draw diagram wherever necessary.
1) o_ks wipné GanrunieoL s SlHenaT LWITGS.
i) e Qeulu eflemeney elifenws SN,
i) ergagnelenwi LWATUGSS Eedlulen SansBauBsamad HNETIS.
i) State and prove the law of conservation of linear momentum.
i1) Derive the expression of Joule’s law of heating.
iii)How can you calculate the speed of sound using echo?
(®eveog) / (OR)
i) ealooars gamams Gonpefisslu@h WMDLURISEHHENEDT ISHEneT BSM LLMSEHL 6T
NeNH&S.
i) sLEOUESSILLL WHDID SLEUUILDD QST eflenarsmil efenses.
i) Explain the rules for obtaining images formed by a-convex lens with the help of ray
diagram.
ii) Explain the process of controlled and uncontrolled chain reactions.
1) guy apossam) BeDEGLL Shef @Il_l"rg'ﬁé;@Lb 2 _aTen QENLMIemeT eudmet.
i) seopdpemen UNBeGL sNIeTissT LDY GUILY CueDTE.
i) Derive the relationship between Relative molecular mass and Vapour density.
ii) Write notes on various factors affecting solubility.
(@eeog) / (OR)
i) Geaufs swBene DN CTENET? OBET LETTLEET WineneL?
i) CHy~CH, —CH, ~OH eem GorwsdHe uwlGL peomeow audenssd Spowns
aLpHs.
i) What is a chemical equilibrium? What are its characteristics?
ii) Arrive at systematically the [UPAC name of the compound : CHy -~ CH, - CH, = OH.
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N—

i) dAenCLred wppb erwenCuned GoumuGoHHis.
i) weeng. Semwoiy echeunm o_deundujeneng?
i) Differentiate between systole and diasole.
ii) How is the structure of DNA organised?

@aoag) / (OR)
i) @venLuld mepLeumh Erueuwrsd Bapsdluiear uigBeoRsaDea TLpHs.
i) gweataed. depsenn Sl Stghuentuled eeleuny CaunuBdamer?
1) AIDS eveugeny ereueunmy e uuuGEDg?
iv) endgnés er@mmne eredten?
i) How does locomotion take place in leech?
ii) How are arteries and veins structurally different from one another?
iii) What are the diagnosis method of AIDS?
iv) What is Scratch?
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